H £ 0l & AF & S

20243 =0llah LB LXtelZ M

Al A

SA LRl Z ML
Hu: I8 2% U O4F
el usory XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
VRSN 15,282,556 14,411,574 870,982
= 5,539,107
[ 646,156
Jl 15,760
Al 4,332,917
= 4,748,616
nE M ¢ otF 2,145,161 3,072,173 A927,012
= 91,137
s 646,156
Al 563,002
o 844,866
NESHE XE 2,145,161 3,072,173 A927,012
= 91,137
[ 646,156
Al 563,002
= 844,866
NEHE YR 2 12,000 12,000 0
201 er23| 9,000 9,000
01 At2teltl 9,000 9,000
Odgt+=ZH| 7,000
—USHES Flet 22= HH
3,000,000& 3,000
— 2Nl SAIM2E 8otz AMS
10,0003 *50F*22] 1,000
—SAIH At 8otz M
100, 0002 *30Page 3,000
O=g=¢g 2,000
—2AcIFE “A2EE2S HH+E
100,000 x10E +22] 2,000
203 HR=H] 3,000 3,000
03 A=A R =AH] 3,000 3,000
OB H&H= AR =AY
1,500,000 1,500
Ol B Mt AP R=AY|
1,500,000& 1,500
A eXiel H3E ALY 30,000 119,000 /89,000
201 2= 30,000 100,000 A70,000
03 A2 b 30,000 30,000 0
Odlsd ieIZgE 2208 29
10,000,000& 10,000
OFEY obtoiol =2 10,000,000 10,000
OFYE HYoptool 24
10,000,000& 10,000
oy & XA 3,000 3,000
201 2= 3,000 0 3,000




A LRI Z L
M D2 =3 9 oF
el usory XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 3,000 0 3,000
OCIsM S USTH 1,000,000& 1,000
OfId =g 1,000,000& 1,000
O28 s 23 1,000,000& 1,000
@ HEH X 31,000 0 31,000
201 =3 6,000 6,000
01 AtR2t2lt] 6.000 6.000
OAAE 2= 5,000,000 5,000
OE2H| 1,000,000& 1,000
301 EtE N = 25,000 25,000
14 DBt 2 a3 25,000 25,000
OFdH Hgyl N2 50,0003 x250E *23] 25,000
2HZ)-Y HEQIE KA AR (AT HEURe] 70,066 177,340 AN07, 274
Ared)
= 40,580
T 29,486
307 glztol & 70,066 136,340 N\B6,274
s 40,580
= 29,486
02 2B YA E X 64,066 128,000 AN\63,934
OR0-< FEQIEXZAE X IHE X2
1,200,000& 1,200
= 600
o 600
OR20-2 FUIEHXIZAY 212d] I
62,866,000 62,866
= 36,980
= 25,886
12 2I2EOIR & = H| 6,000 8,340 A2,340
ORC0H-2 FEQEXIZAY €=t
6,000,000& 6,000
[ 3,000
o 3,000
ad SEEdA FYE ALY 47,008 108,800 N61,792
= 22,862
T 24,146
203 HR=H] 1,400 4,000 22,600
s 700
= 700
03 A=A PR 1,400 4,000 22,600
OHE SyZA HAXD A AR
=] 1,400,000& 1,400
= 700
o 700
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 45,608 103,800 A58,192
= 22,162
= 23,446
02 2IZHBYAIHE X 42,108 93,800 A51,692
OFH =824 YA A 21248l X
! 42,108,000 42,108
[ 22,162
s 19,946
12 QIZFQIRIE = H| 3,500 10,000 26,500
OHE SHBYA FAN A ISDS
! 3,500,000 3,500
A = 13,000 13,000 0
201 Ler=23| 13,000 13,000
01 At2teltl 13,000 13,000
OFHIHAY E2= NH
1,000,000& 1,000
O=g=¢ 12,000
—HEENOIAS HALY
100, 00024 102§ *43] 4,000
—HEN MO Haay
100,000 x20H ~42] 8,000
MBI EDIE F4 330,741 500,000 169,259
[ 247,991
Al 57,950
[Ea 24,800
307 el2to| & 330,741 500,000 169,259
[ 247,991
Al 57,950
= 24,800
02 2B YA E X 330,741 500,000 169,259
OAI &)Y =4 330,741,000& 330,741
= 247,991
Al 57,950
T 24,800
ARIHEHDIE S EE2XE 20,000 20,000 0
201 er23| 20,000 20,000
03 AL SHI 20,000 20,000
OAtIH)IY - FEFI1Y 22|02t
20,000,000 20,000
SES2EZME K 282,820 205,910 76,910
Al 141,410
o 141,410
101 e124d| 279,774 204,002 75,772
Al 139,887
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 139,887
04 JIZtNZ22 XS 2+ 219,774 204,002 75,772
OZ32ZAIY e124b| 219,774
—QI24H| 1,050,200 *30& 8 252,048
Al 126,024
Ea 126,024
—AHEEE JIARES
252,048,000& *11% 271,726
Al 13,863
Ea 13,863
201 et 3| 3,046 1,908 1,138
Al 1,523
[Ea 1,523
01 At22t2lt] 3,046 1,908 1,138
OZB322AMY 235+ 3,046,000 3,046
Al 1,523
s 1,523
2322 AY KR (FIt2Hl) 116,407 120,683 N4,276
101 @124H| 115,407 118,906 A3,498
MU IRNZZENSE 115,407 118,905 A3,498
OS2 2AIE 2124| 115,407
— Q12| 1,050,200 33 32 103,970
—4EE R JI2RE=3
103,969,800 *11% 11,437
201 Ler23| 1,000 1,778 NTT8
01 At2teltl 1,000 1,778 NTT8
OsE2=2AY =5+ 1,000,000& 1,000
NS SH LRtel AL (HEAIY) 376,400 823,720 NA447,320
Al 282,300
s 94,100
101 ©1AH| 369,732 818,675 A\448,943
Al 277,29
[Ea 92,433
M ORINZZ2NSE S 369,732 818,675 A\448,943
OXSESSHL el elAt| 369,732
—QI2A4H| 1,338,610& x25E « 10 334,653
Al 250,990
o 83,663
—AUHESE JIARES 35,079,000 35,079
Al 26,309
s 8,770
201 =3 6,668 5,045 1,623
Al 5,001
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A LRI Z L
M D2 =3 9 oF
= MR = el P AN EE (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 10,000
101 @1A4H| 20,000 20,000 0
Al 10,000
s 10,000
04 JIZtN2Z2XNSE 20,000 20,000 0
OFgdatgd ol2dl X 20,000
—2 =0 90,2643 x1H 200! 18,053
Al 9,027
= 9,026
—40 288 S 9,7353 x1& 200 1,947
Al 973
o 974
FHAAGR oAl X (XHA) 104,825 102,317 2,508
101 e124d| 104,825 102,317 2,508
M ORNZZ2NSE S 104,825 102,317 2,508
OF Hatga oA 104,825
=10 90,2643 x6H « 168! 90,987
— & HEE 90,987,000& * 1% 910
—1I=E2E 90,987,000 *1.75% 1,593
—=%= 90,987,000 4. 5% 4,09
—=0ALEE 90,987,000 *3.545% 3,226
— L OIE)| QR
3,226,0002%12.81% 414
—SXEE 300,000 x62H*13] 1,800
—g&Ed0=2 300,000 x6H *13] 1,800
5|12 dXtel HAZY Es 20,000 20,000
201 el 20,000 20,000
03 A= &I 20,000 20,000
082 YX2 HAZ BE
20,000,000& 20,000
MU X328 477,406 477,406 0
[ 334,723
Al 71,342
= 71,341
101 @124H| 174,192 174,192 0
= 87,096
Al 43,548
T 43,548
03 SR (RINHA) 222+ 174,192 174,192 0
OF g atg At 2l2it] 174,192
—QIRYS 174,192,000& 174,192
= 87,096
Al 43,548
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o D2 =8 U oF
= MR = el P AN EE (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

i 43,548

201 B2 AY| 120,894 125,8% 5,000
s 101,947
Al 9,474
i 9,473

01 At 22|l 120,894 125,8H4 5,000
OF LA L A= 242 23,080,000 23,080
s 11,540
Al 5,770
i 5,770
O I ALY 14,814,000 14,814
s 7,407
Al 3,704
= 3,703
Ofgesdoz 0l 29 83,000,000 83,000
s 83,000

202 Ot 800 800 0
s 400
Al 200
o 200

05 B2 W] 800 800 0
OFLAEA WAL 800,000& 800
= 400
Al 200
= 200

301 LetENEZ 176,520 176,520 0
= 142,780
Al 16,870
= 16,870

11 AP S 13,120 13,120 0
OF S L AtZ2t2 2,120,000& 2,120
s 1,060
Al 530
= 530
OXgEsdoz 1 29 11,000,000 11,000
s 11,000

14 JIEt2 43 163,400 163,400 0
OMYHH CIE2Y 163,400,000 163,400
s 130,720
Al 16,340
i 16,340

402 CI2ER=0IH 5,000 0 5,000
= 2,500
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SN =N,
M D2 =3 9 oF
el usory XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,250
s 1,250
02 QIZEHE AL E (01X THE) 5,000 0 5,000
O EX& 5,000,000& 5,000
= 2,500
Al 1,250
[Ea 1,250
MLEH XIE2(Ft24l) 56,055 49,239 6.816
101 @124H| 38,655 37,839 816
3 BRA(RIH) 22X 24 38,65 31,814 6,841
OFYAEA 012l 252
31,590,000& 31,590
OFAMEA A TA0E
1,413,000& x6H 7,065
202 04| 16,800 10,800 6,000
01 =LHO LI 16,800 10,800 6.000
O J=gde =0
20,0002 x5 * 142 * 122 16,800
303 Z&a= 600 600
01 Za= 600 600
OF LA st Sl N3=
300,000 x2&H 600
FHEHENY FYAEH 91,137 91,137 0
= 91,137
101 @124H| 69,59 69,59% 0
= 69,59
03 SR (RINHA) 222+ 69,59 69,59% 0
OXHatg At Q12| 69,5%
—QRYS 69,5%4,812& 69,595
= 69,595
201 er2 3| 16,822 16,822 0
= 16,822
01 At 2|l 16,822 16,822 0
Oz 2384l S
16,822,000 16,822
= 16,822
202 04| 400 400 0
= 400
05 SR W=s0H| 400 400 0
OXYAEA WF0H 400,000& 400
= 400
301 EtE NS 4,320 4,320 0
= 4,320
11 #AIAHIXIE S 4,320 4,320 0
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el 0sets X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdgoZzd 23l s 4,320,000 4,320
= 4,320
JECENY FHY X (Fot2HI) 23,700 21,705 1,995
101 @124H| 16,680 17,085 A405
EEESTESIPTEDEEP RS 16,680 14,675 2,005
OXAMEA 12| 252
13,854,000 13,854
OXYEA dutaiois
1,413,0002 x2&H 2,826
202 04| 6,720 4,320 2,400
01 =LHOHI 6.720 4,320 2,400
OB JI=YS S30i|
20,0003 x2EH*142«12& 6.720
303 Z&a= 300 300
01 Za= 300 300
OXNP A Ut JEEdl N33
300,000& %1 300
Lol gl s& 10,081,585 8,203,552 1,878,033
= 4,683,664
Al 2,994,466
s 2,403,455
Lol Xiel el 10,081,585 8,203,552 1,878,033
= 4,683,664
Al 2,994,466
Ea 2,403,455
colgiiel & ASIESAIE At 9,367,329 7,943,776 1,423,553
= 4,683,664
Al 2,810,199
= 1,873,466
307 elztol & 9,367,329 7,943,776 1,423,553
= 4,683,664
Al 2,810,199
= 1,873,466
05 2IIRIE =2 9,367,329 7,943,776 1,423,553
OLOIUTRl U ABIEEXR AR
9,367,329,000& 9,367,329
= 4,683,664
Al 2,810,199
T 1,873,466
AlLIGIZ2E 2gX& 365,098 259,776 105,322
Al 184,267
[Ea 180,831
307 el2to| & 365,098 259,776 105,322
Al 184,267
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2 Al Aot
= Lo edXiel s
el =01 X2l 2 (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 180,831
10 Al SXAZEE 22X 365,008 259,776 105,322
OAILIGIZEE 212b] 307,954
—QI24H| 304,518,000 304,518
Al 162,259
Ea 152,259
—=SXENE 700,000 700
Al 700
—Z2RFE 2,736,000& 2,736
Al 2,736
OAILIZE 24| 57,144,000 57,144
Al 28,572
Ea 28,572
Coldxiel ¥ AtSESXIE At (FItzHI) 349,158 349,158
307 elzto| & 349,158 349,158
05 21t =S 349,158 349,158
Oolgite] & AtslgsSXIE M (Fotz
Hl) 349,158
—&0W XA 21AH| 3,150,000 100 315,000
—&gele el 34,158,000& *1 34,158
Zohel Lxiel sa 1,444,230 1,444,230 0
= 722,115
Al 722,115
Ol 2Xtel 2l 1,444,230 1,444,230 0
= 722,115
Al 722,115
ZOHQIdRtel XIJA(LerE LXtel) 692,024 692,024 0
= 346,012
Al 346,012
301 EtE NS 692,024 692,024 0
= 346,012
Al 346,012
01 Al EEABZ2(2REER) 692,024 692,024 0
OToHIdRtel X (et dXtel)
692,024,000 692,024
= 346,012
Al 346,012
ZOHQIRtel XIS (AIRMM L Xtel) 230,730 230,730 0
= 115,365
Al 115,365
301 LELEE S 230,730 230,730 0
= 115,365
Al 115,365




M LXtelZ Mzt

I Zoje xel &
Rl ZOoHQ! X2l 2el (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 230,730 230,730 0
OFOHRILRI2] I/ (AIZHH LXi2)
230,730,000 230,730
= 115,365
Al 115,365
ZoHel Y Xtel X (SXLXtel) 229,464 229,464 0
= 114,732
Al 114,732
301 22N = 229,464 229,464 0
= 114,732
Al 114,732
01 A EHATZ(2REZME) 229,464 229,464 0
OFofeIxtel X (SXLRiel)
229,464,000 229,464
= 114,732
Al 114,732
LEYUL QLYESAF EXAY 292,012 292,012 0
= 146,006
Al 146,006
307 212+01& 292,012 292,012 0
= 146,006
Al 146,006
05 2ItRIE =2 292,012 292,012 0
OLLHH QLAESAL EXUREl At
292,012,000 292,012
= 146,006
Al 146,006
34 sX 88 468,184 752,684 A284,500
= 12,000
Al 8,000
s 448,184
FE=X N 468,184 752,684 A284,500
= 12,000
Al 8,000
Ea 448,184
CHer Ot=HI0IE 29 445,184 488,768 N\43,584
101 21A4H| 445,184 488,768 N\43,584
04 JIZtN2Z2 XS+ 445,184 488,768 N43,584
Ol Ot=HI01E 2124d| 445,184
—QI2A4H| 90,2643 x300E ~ 16 433,268
— & HEE 433,268,000 * 1% 4,333
—1EEE 433,268,000& *1.75% 7,583
FHZAM Al SEXE 23,000 263,916 A\240,916
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SA LRl Z M
Ny ®A =X =3
el 3ESX X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 12,000
Al 8,000
s 3,000
301 EetE2 NS 23,000 263,916 A240,916
= 12,000
Al 8,000
Ea 3,000
01 Al EE AT S (2 RDEXA) 23,000 263,916 A\240,916
OHEEH BHAl SEXE
23,000,000& 23,000
= 12,000
Al 8,000
Ea 3,000
NSEH gdat 1,036,158 831,697 204,461
= 30, 191
Il 15,760
Al 45,334
o 944,873
NSEZH X2 478,158 670,697 192,539
= 30, 191
Il 16,760
Al 45,334
s 386,873
Sotory 2| 16,470 20,015 A3,545
101 ©1AH| 14,470 14,121 349
M ORNZZ2NSE S 14,470 14,121 349
OSItEAE 14,470
—QI24H| 90,2643 3 *52 14,082
—&HEE 14,082,000 * 1% 141
—IEEE 14,082,0002 *1.75% 247
201 et 3| 2,000 5,8%4 A3,8%4
01 AtR2tc|Hl 2,000 5,84 A3,8%4
Oget=ZH] 2,000
—sSotety g2 M
80,0002 = 150K 1,200
—24E AIS M4 I
2002 *1,0000H*45 800
HEANY Zdat 324,684 141,832 182,852
101 ©1AH| 44,584 43,510 1,074
04 JIZtN2Z2 XS E+ 44,584 43,510 1,074
OJIEAIE DHEE 28 JI2HH 44,584
—QIAH(EY) 90,2643 x1H 300! 27,080
—QI2AH|(FY) 90,2643 x12H*132 11,915
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2 Atel Z Xl ot

33 NGEHM 2483
el XESEH A& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
— & HEE 38,995,000 * 1% 390
—UEEE 38,995,000& *1.75% 683
—=go= 38,995,000 +4. 5% 1,755
—JdHEE 38,995,000 *3.545% 1,383
— L OIE )| Qo
1,383,0002 %12.81% 178
—SXEUE 300,000 x22H*13] 600
—g&d0= 300,000 x2H*13] 600
201 =3 10,100 5,322 4,778
01 At22t2l] 5,900 3,620 2,280
OJIZAE NXHEH 2|
1,000,000 1,000
OJIBANE & S5 100,000 100
ONSAE 243 222 MH
1,000 +3,000H 3,000
OHEAE 2HIE RSt AT &5
S22 1,800,000 1,800
2 352484l 4,200 1,702 2,498
OSZAIY OFXIE ezt M3
100,000& * 12 1,200
OAIZAIE X8I 3,000,000& 3,000
207 ARl 22,000 22,000
01 A S| 22,000 22,000
OJIFAE - 2204 243 Yot A7 B2
22,000,000 22,000
307 glztol & 48,000 48,000
04 CIZHHAMAIH 2 & 48,000 48,000
O2st2ZSEAE SEAL(RHA)
48,000,000& 48,000
401 AlZHIZ S OHbI 200,000 45,000 185,000
01 A28l 200,000 45,000 155,000
OJIBAE XotS s SHISA
200,000,000 200,000
U288 E 2t 7,800 7,600 200
201 Ler23 | 7,800 7,600 200
01 At22t2lt] 7,800 7,600 200
OUAREE S5 28 2|2 TA
6,000,000& 6,000
O=g=+¢ 1,800
—RSEYxIAE Y B4
100,000& 9 x13] 900
—RS)|IGLYLHE 5 HH+E
100,000&*9& *13] 900
Al 24 2l 21,825 21,825
201 er2 3| 21,825 21,825
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RZH

2 Atel Z Xl ot
KNS 2dat

=l XS X2 (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
01 At2t2ltl 21,825 0 21,825
OAEI HIIZA 21,825
o =PIV DS
20,625,000 x13] 20,625
—HED IIBA 23 =237 1,200
DIl ®IIHA B Ea0t W
80,0002 * 107K 800
ANBABS S X
400,000 *12] 400
et JHAg A 243 NJAY 12,639 0 12,639
= 3,791
Al 4,424
[Ea 4,424
201 eer23y| 12,639 0 12,639
= 3,791
Al 4,424
o 4,424
01 At2teltl 12,639 0 12,639
OZEIYA 245t NJAAY
12,639,000& 12,639
= 3,791
Al 4,424
= 4,424
ATHAO0IU X 2D |BE R AL 45,000 331,000 286,000
Il 15,760
Al 29,240
402 2I2FX=01 & 45,000 0 45,000
Il 16,760
Al 29,240
02 QI K2 AIS 2R (OIETHE) 45,000 0 45,000
OSZU0IAOHE EBHSZ2EEH EX
45,000,000 45,000
Il 16,760
Al 29,240
FHAAHNSHUXSAAML (SXNAE L HNASES LEDEH 49,740 160,000 110,260
WHA)
= 26,400
Al 11,670
= 11,670
401 Al HIZL 01| 49,740 160,000 110,260
= 26,400
Al 11,670
T 11,670
01 A&l 49,740 160,000 A110,260




2A:

E M

2 Atel Z Xl ot

KNS 2dat

el XESEH A& (SH9 H2)
SA - B BRA(SH) - HRA - of v e HIDE2
OSSR =AM (ZXAIA DX
WHA) 42,000,000& 42,000
= 21,000
Al 10,500
T 10,500
OFLHSUUXIEXML (MNASE LEDEY
WHA) 7,740,000& 7,740
= 5,400
Al 1,170
s 1,170
S0 N2 558,000 161,000 397,000
AFAEX] 2l 558,000 161,000 397,000
201 er23| 2,000 12,000 10,000
01 AtR2t2|HI 2,000 2,000 0
OLHE Al el B3 ME
2,000 *1,0000H 2,000
401 AIEHIZ SR HYI 556,000 149,000 407,000
01 Al&HI 546,000 149,000 397,000
O=3HX 83 ool et3 3y
40,000,000 40,000
Os3HX UW(MLHAE)SS HIESH HS
3 10,000,000 10,000
OFZ=3HX XEALE 2|22
496,000,000& 496,000
02 22/l 10,000 0 10,000
OF2s3HI NEAE 2|22d Zel
10,000,000 10,000
HH2LZH(LX2IZ D) 107,238 107,238 0
JlE2ddl (LX) 107,238 107,238 0
Jl23HI(LXteIZ D) 107,238 107,238 0
201 et 3| 38,414 38,414 0
01 At22t2l] 38,414 38,414 0
Oget=ZH] 11,780
—2ANIIE ARESHI
5,000& x23& * 122 «00% 1,242
—SW0INEelH &
191, 3502 *7CH*32| x90% 3,617
—Zd0INESH &
250, 0003 *3CH*52] *90% 3,375
—=SAIIEYH 200, 0003 »1CH 23| x90% 360
—=SADIEE™ 200, 0003 *1CH*22]*90% 360
—SAMEX 2,070
M 20,0002 x23F 52+ A x90% 2,070
—NEA=s 756
SX 20,0002 x25* 123 *90% 432
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2A:

2 Atel Z Xl ot

Ho: wE S oA (L K2IZH D)
gel: Jl=2dul(L At (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- XX 15,0002 x2E5 * 122 x90% 324
O=gt| 23,847
—2AJI2YR S20Al)
8,000 *23ZF 12+ 122 x90% 23,847
O=&4 2gH| 200,000& = 12 x90% 2,160
OF=D| gtz 40,0002 *1CH* 122 *90% 432
OB4I| ZEHDAY
18,000 *1CH* 123 *90% 195
202 O4H| 61,824 61,824
01 =LHOdH] 61,824 61,824
OB I1=YD £30it|
20,0003 x23H * 14 x 122 x80% 61,824
SR FL| 7,000 7,000
|22 R FA| 2,200 2,200
OZHM&A=ZE 2,200,000& 2,200
M EAN2IHRFA| 4,800 4,800 0
ORN2IURFAI 400,000 122 4,800
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